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o RE
Bt REH(N) BIEELE (%) | IREBEER(E) | AIEE (%) FIFAEG) ATEFRIAE ")
JAL-JTAY L—TJ &5t 361,177 80.1| 566,809 90.8 63.7 712.2
AR JAL 169,438 83.3] 243,770 87.8 69.5 73.3
JTA 161,065 734 268,455 93.1 56.3 /1.4
RAC 38,877 96.1 51,800 93.0 /5.1 712.6
JAC 1,797 1635 2,184 103.6 64.5 43.6

o RE
B Epatt REH(N) BIEELE (%) | IREEFEE(E) | AL (%) FIFAE (%)  ETEFRIFHE (%)
PIH=%H JAL/JTA 136,275 81.5| 189,898 83.2 71.8 73.2
FR=%H JAL 33,483 925 54,202 110.3 61.8 73.7
BTE =A% JAL/JTA 7,144 443 17,655 775 40.6 70.9
= E = AR JTA 26,687 78.8 42,570 95.6 62.7 76.0
PFH=HIE JAL/JTA 11,893 67.2 19,800 95.8 60.1 85.7
PHEH=E4H JAL/JTA 7,133 73.1 9,900 83.3 721 82.1
EiE=HaiE JTA 4,189 524 9,900 100.0 42.3 80.7
&R =R JTA 13,435 53.6 30,195 86.3 445 71.7
i L =F0FR JTA 3,937 89.7 9,900 100.0 39.8 443
IMNR=FRE JTA 3,897 91.7 8,250 83.3 472 42.9
MBE=BEXKE RAC 897 95.0 1,300 712.2 69.0 52.4
MBBE=53H RAC 2,301 109.6 3,000 1034 76.7 712.4
AR F =Pk RAB JAC 1,797 1635 2,184 103.6 64.5 43.6
AN 253,068 77.5] 399,354 88.9 63.4 72.7
BHE=E0 JTA/RAC 42,015 90.0 64,710 975 64.9 70.3
MBE="n1E JTA/RAC 30,938 78.5 54,810 98.8 56.4 711
BBE=AKXE JTA/RAC 15,618 88.8 21,740 90.5 71.8 73.2
MB=mMAR RAC 2972 107.2 4,500 100.0 66.0 61.6
MBBA=ILKXEK RAC 1,280 103.6 1,600 100.0 856.3 82.3
REHE=5E RAC 1,748 94.2 3,000 103.4 58.3 64.0
BEHO=%RM RAC 3,271 110.9 4,600 97.9 711 62.8
BAAR=IKXE RAC 1,209 108.2 1,500 100.0 80.6 745
aiE=5RE RAC 4,890 75.6 5,900 70.2 82.9 77.0
=2a=%h18 RAC 3,823 94.7 4,700 87.0 81.3 74.7
RRERET 107,764 86.8] 166,960 95.5 64.5 71.0
EHRRIR A 5T 360,832 80.0] 566,314 90.7 63.7 72.2
TE RS E 345 28175 495 300.0 69.7 712.7
ERIREET 361,177 80.1 566,809 90.8 63.7 72.2
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BEMR=E BHERSZAF—vyRE HEBIFP—I=Za—%—
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B Bt EEGW | MEL®
AP =ARER JTA 60 45.9
faht = IR =5 JTA 286 102.4
PFH=RIE JAL/JTA 113 98.0
FH==% JAL/JTA 79 92.6
A =HhiE JTA 42 79.9
R &R =FRER JTA 174 93.1
L =38E JTA 37 99.4
INA=FRER JTA 3 7.4
ME=TEKXE RAC 1 58.3
BE=5H RAC 1 162.3
B oMRET 797 85.5
MG="=r JTA/RAC 488 95.6
MEA=HiE JTA/RAC 456 102.2
MB=AKXKE JTA/RAC 105 106.5
AMEB=FAKE RAC 22 1215
AMEFE =4t K& RAC 9 122.3
=5 PBE RAC 22 121.8
EG=%EM RAC 19 100.9
BARKE=IXKE RAC 6 117.4
AiE=5HE RAC 38 105.0
Ea=fiE RAC 14 76.2
B NERET 1177 100.1
EHRIRSE 1,974 93.7
TEHREEE 0 -
SHRIREET 1,974 93.7
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